Over 3,000 pledges now received!





Our Lady of the Assumption to launch Pastoral Phase

This weekend will see Fr. Kevin O'Brien launch the next phase of the campaign in Thatcham, as he invites the wider parish community to play their part in this vital initiative.

Father Kevin began meeting with parishioners less than one month ago and has been heartened by the generous support received, with almost £22,000 pledged to-date from 11 families.

With a target of £30,000 in mind, it is hoped that the parish's share may be used to install extra lighting and help with upkeep of the property into the future

Fleet and Church Crookham at halfway mark

The campaign is quickly picking up pace over at Holy Trinity, Church Crookham and Our Lady, Fleet as they reached the 50% mark this week.

Through various individual and group meetings, Fr. Johnpromise Umeozuru has enjoyed sharing the campaign with over 45 families as he has been inviting them to join the efforts.

Sixteen families have contributed £49,075 already, with Father Johnpromise hoping that those who have yet to make a decision return their forms to him at Mass this weekend or via post to the Campaign Office.





A warm welcome to Our Lady Immaculate

We are delighted that Fr. Leslie Adams and the parishioners of Our Lady Immaculate in Westbourne are the latest parish to join Group 7.

Situated on the south coast, in the Bournemouth area, Our Lady Immaculate is a bustling church of more than 200 lay faithful.

They are aiming to raise £65,000 in pledges over the coming weeks. Father Leslie is hopeful that this target can be met as the community stands to receive over £21,000 as their parish share. This money will be used for the refurbishment and maintenance of the church building.

Group	Parish	Priest	Basic Goal	% of Basic Goal Raised	Challenge Goal	Total Amount Raised	Pledges Received	Average Gift (inc. Gift Aid)
Pilot	English Martyrs, Reading	Canon Michael Dennehy	£230,000	163%	£400,000	£375,681	124	£3,030
	St Peter and the Winchester Martyrs	Fr. Mark Hogan	£500,000	159%	£850,000	£795,043	155	£5,129
	St John Cathedral, Portsmouth	Canon PJ Smith	£210,000	139%	£640,000	£292,910	44	£6,657
	St Edward and St Mark, Windsor	Canon David Hopgood	£320,000	108%	n/a	£345,423	108	£3,198
One	Sacred Heart, Fareham and Portchester	Canon John Cooke	£210,000	122%	n/a	£256,343	76	£3,373
	St Joseph and St Edmund, Southampton	Mgr. Vincent Harvey	£240,000	121%	n/a	£289,458	106	£2,731
	St Mary, Alton	Fr. James Carling	£150,000	105%	n/a	£158,150	61	£2,593
	St James and St William of York, Reading	Fr. Chris Heaps	£250,000	55%	n/a	£138,413	71	£1,949
Two	St Mary and St Patrick, East Hendred	Mgr. Andrew Burnham	£70,000	146%	n/a	£101,853	39	£2,612
	St Edmund Campion, Maidenhead	Fr. Liam Cummins	£180,000	113%	n/a	£203,550	63	£3,231
	St Joseph, Maidenhead	Fr. Ephraim Odhiambo	£215,000	100%	n/a	£215,636	69	£3,125
	St Swithun Wells	Fr. Raffaele Cossa	£455,000	76%	n/a	£346,641	88	£3,939
Three	Sacred Heart, Waterlooville	Mgr. Jeremy Garratt	£105,000	204%	£270,000	£213,780	58	£3,686
	Corpus Christi, Wokingham	Canon Simon Thomson	£210,000	151%	n/a	£317,901	115	£2,764
	North Hinksey Parish	Fr. Daniel Lloyd	£80,000	131%	n/a	£104,585	34	£3,076
	St Joseph, Reading	Fr. Peter Glas	£80,000	125%	n/a	£99,748	34	£2,934
	Guernsey Parish	Canon Christopher Rutledge	£290,000	112%	n/a	£323,920	105	£3,085
	St Colman and St Paul, Cosham and Paulsgrove	Fr. Innaiah Maddineni	£95,000	110%	n/a	£104,747	54	£1,940
	Jersey Parish	Canon Dominic Golding	£575,000	107%	n/a	£615,773	90	£6,842
	St John the Baptist, Andover	Fr. Austin Gurr	£275,000	100%	n/a	£275,958	93	£2,967

Group	Parish Priest		Basic Goal	% of Basic Goal Raised	Amount Raised	Pledges Received	Average Gift (inc. Gift Aid)
	St Michael and All Angels, Leigh Park Canon Gerard Flynn		£65,000	121%	£78,673	38	£2,070
	Our Lady of Sorrows and Saint Philip Benizi, Fordingbridge	Canon Paul Townsend	£40,000	120%	£47,890	32	£1,497
	Sacred Heart & Saint Therese, Ringwood	Canon Paul Townsend	£35,000	120%	£42,026	28	£1,501
	St Anne, Brockenhurst	Fr. David Adams	£25,000	116%	£28,938	13	£2,226
	Our Lady and St John, Lee-on-the-Solent and Stubbington	Fr. Francis Sasinowski	£80,000	115%	£91,980	51	£1,804
Four	St Theresa of the Child Jesus, Totton	Fr. Gerry Onyejuluwa	£35,000	108%	£37,713	25	£1,509
loai	Blessed Hugh, Faringdon	Faringdon Fr. Claro Conde		105%	£41,975	18	£2,332
	St. Boniface, Southampton	Fr. Thomas Kleinschmidt	£95,000	103%	£97,678	65	£1,503
	St Francis of Assisi, Milford-on-Sea	Fr. David Adams	£30,000	101%	£30,218	18	£1,679
	Our Lady of the Assumption & Edward the Confessor, Lyndhurst	Fr. Gerry Onyejuluwa	£25,000	82%	£20,516	11	£1,865
	Our Lady of Mercy and St Joseph, Lymington	Fr. David Adams	£60,000	73%	£43,719	25	£1,749
	St Bernard and St Michael, Waterside	Fr. Paul Obada	£60,000	60%	£36,000	18	£2,000
	St Joseph, Newbury	Newbury Fr. Michael Fava CBE		252%	£213,998	54	£3,963
	St Edmund, Horndean	Mgr. Jeremy Garratt	£50,000	172%	£85,873	21	£4,089
	St Joseph and St Thomas, Havant and Emsworth	Fr. Joe Gruszkiewicz	£90,000	138%	£124,435	47	£2,648
	Our Lady Help of Christians, Farnborough	Fr. Michael Hynes	£50,000	129%	£64,300	37	£1,738
	Corpus Christi and St Joseph, Portsmouth	Fr. Emmanuel Rinda Banuh	£45,000	124%	£55,635	30	£1,855
Five	Our Lady of Lourdes, Hungerford	Fr. Zbigniew Budyn	£65,000	120%	£78,231	27	£2,897
Five	St Vincent De Paul, Southampton	Fr. Tomy Chirackalmanavalan	£30,000	109%	£32,761	28	£1,170
	St Francis De Sales, Wash Common	Fr. Zbigniew Budyn	£80,000	105%	£83,715	32	£2,616
	Holy Family, Southampton	Fr. Benjamin Theobold	£45,000	76%	£34,200	16	£2,138
	Our Lady of Lourdes & St Swithun, Portsmouth	Canon Simon Treloar	£90,000	59%	£52,969	33	£1,605
	Our Lady of the Assumption and St Brigid, Hedge End	Fr. Elijah Nde	£35,000	18%	£6,180	5	£1,236
	Christ the King and St Colman, Southampton	Fr. Elijah Nde	£45,000	10%	£4,680	7	£669

Group	Parish	Parish Priest		% of Basic Goal Raised	Amount Raised	Pledges Received	Average Gift (inc. Gift Aid)
Six	St John Vianney and Sacred Heart, Wantage and Lambourn	Fr. David O'Sullivan	£45,000	256%	£115,103	58	£1,985
	St Michael and St Oswald, Tadley Fr. Patrick Tansey		£60,000	154%	£92,193	43	£2,144
	Christ the King, Reading	Fr. Daniel Agber	£70,000	147%	£102,631	32	£3,207
	St Thomas More, Twyford	Fr. Jude Mbonu	£70,000	135%	£94,600	32	£2,956
	St Margaret Mary, Park Gate	Fr. Ansel D'Mello	£95,000	132%	£125,545	46	£2,729
	Isle of Wight Parish	Fr. Jonathan Redvers Harris Fr. Steven Restori Fr. Nishan Edward Fr. Stephen Vooght	£295,000	102%	£301,638	109	£2,767
	St Thomas More, Hartley Wintney Fr. Wojciech Paszko		£20,000	96%	£19,244	9	£2,138
	St Swithun, Yateley	Fr. Wojciech Paszko	£50,000	84%	£41,940	22	£1,906
	Immaculate Conception, Southampton	Fr. Anthony Chiatu	£85,000	61%	£52,062	24	£2,169
Seven	Our Lady and St Edmund, Abingdon	Fr. Jamie McGrath	£130,000	169%	£220,210	87	£2,531
	Holy Ghost and St Bede, Basingstoke	Fr. John Lee	£255,000	125%	£319,733	97	£3,296
	Our Lady of Lourdes, New Milton	Fr. Bill Wilson	£55,000	119%	£65,505	26	£2,519
	St Mary and St Columba, Gosport	Fr. Matthew King	£65,000	114%	£74,264	32	£2,321
	Our Lady of the Assumption, Thatcham	Fr. Kevin OʻBrien	£30,000	72%	£21,640	11	£1,967
	St Patrick, Hayling Island	Mgr. Jeremy Garratt	£50,000	54%	£27,294	18	£1,482
	Holy Trinity and Our Lady, Fleet and Church Crookham	Fr. Johnpromise Umeozuru	£95,000	52%	£49,075	16	£3,067
	The Annunciation and St Edmund Campion, Bournemouth	Fr. Anthony Ikhenoba	£90,000	51%	£46,128	25	£1,845
	St Anne and St Mary Magdalen, Alderney	Fr. Paul Dzwig	£15,000	39%	£5,800	2	£2,900
	St Joseph, Basingstoke	Fr. Paul Leonard	£220,000	33%	£73,625	20	£3,681
	Sacred Heart, Bordon	Fr. John Chandler	£45,000	32%	£14,250	7	£2,036
	Sacred Heart, Hook	Fr. John Lee	£50,000	15%	£7,425	3	£2,475
	Our Lady Immaculate, Westbourne	Fr. Leslie Adams	£65,000	14%	£9,375	1	£9,375